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Bachelor of Arts (B.A.) Final Examination

ECONOMICS

(Indian Economy, Development and Environmental Economics) (New)

(Optional)

Time : Three Hours] [Maximum Marks : 100

N.B. :— (1) All questions are compulsory.
(2) All questions carry equal marks.
(3) Draw diagrams wherever necessary.
(4) Give correct question number to the answer.

1. Choose the correct alternative :—

(1) How is Birth Rate determined in India ?

(a) Per thousand (b) Per hundred

(c) Per family (d) None of these

(2) In which sector was agriculture included in India ?

(a) Tertiary sector (b) Primary sector

(c) Secondary sector (d) None of these

(3) Who is the Chairman of the Indian Planning Commission ?

(a) Chief Minister (b) Prime Minister

(c) Finance Minister (d) President

(4) Who has the ownership of forests in India ?

(a) Private (b) Government

(c) Forest Commission (d) None of these

(5) Which instrument out of below has been included as the means of communication ?

(a) Agriculture (b) Business

(c) Factories (d) Telephone

(6) When was Economic Planning started in India ?

(a) 1st April 1948 (b) 1st April 1949

(c) 1st April 1950 (d) 1st April 1951

(7) From which sector is the contribution of India’s National Income lowest ?

(a) Agriculture (b) Industry

(c) Service (d) None of these
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(8) In which year Policy of Globalisation was introduced ?
(a) 1991 (b) 1981
(c) 1971 (d) 1961

(9) What is the type of Indian Economy ?
(a) Capitalism (b) Socialism
(c) Mixed (d) None of the above

(10) In India National Income accounting in done by :
(a) Central Statistical Organisation (b) State Statistical Organisation
(c) Local Statistical Organisation (d) None of the above 20

2. Explain the concept of ‘Green Revolution’. Mention the impact of Green revolution on Indian
agriculture.

OR
Critically examine the Industrial Policy of 1991. 20

3. Explain the difference between Foreign Direct Investment and Foreign Portfolio Investment. State the
advantages and disadvantages of FDI and FPI.

OR
What do you mean by Multinational Corporations ? Explain the merits and demerits of Multinational
Corporations. 20

4. Answer the following questions in about 12 to 15 lines each :—
(a) What are the main indicators of economic development ?
(b) Explain the concept of ‘innovation’.
(c) Write a note on ‘Dusenberry effect’ ?
(d) Explain any one stage of economic development given by Rostow.

OR
(e) Write a note on the ‘vicious circle’ of poverty.
(f) Write a note on the ‘Big Push theory’.
(g) Write the Adam Smith thought over the economic development.
(h) Distinguish between economic development and economic growth. 20

5. Answer the following questions in about 12 to 15 lines each :—
(a) Explain the objectives of Environment Education.
(b) What are the sources of water pollution ?
(c) Write a note on the ‘Green House Effect’.
(d) Write a note on ‘Forest Promotion’.

OR
(e) Write a note on the ‘Chipko Movement’.
(f) What are the reasons of land pollution ?
(g) Suggest measures for Environmental Balance.

(h) Explain the effects of air pollution. 20
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¼ejkBh ekè;e½
1. ;ksX; i;kZ; fuoMk %—

(1) Hkkjrkr tUenj dlk fuf'pr dsyk tkrks \
¼v½ izfr gtkj ¼c½ izfr 'ksdMk
¼d½ izfr dqVwac ¼M½ ;kiSdh ukgh

(2) Hkkjrkr Ñ"khpk lekos'k dks.kR;k {ks=kr gksrks \
¼v½ lsok {ks= ¼c½ izkFkfed {ks=
¼d½ f}rh; {ks= ¼M½ ;kiSdh ukgh

(3) Hkkjrh; fu;kstu eaMGpk v/;{k dks.k vlrks \
¼v½ eq[;ea=h ¼c½ iz/kkuea=h
¼d½ foÙk ea=h ¼M½ jk"Vªirh

(4) Hkkjrkr taxykoj dks.kkph ekydh vkgs \
¼v½ [kktxh ¼c½ ljdkjh
¼d½ ou vk;ksx ¼M½ ;kiSdh ukgh

(5) ;kiSdh dks.kR;k lk/kukpk nG.koG.k lk/kukr lekos'k gksrks \
¼v½ 'ksrh ¼c½ O;olk;
¼d½ dkj[kkus ¼M½ VsyhQksu

(6) Hkkjrkr vkfFkZd fu;kstukyk dsOgk lq:okr >kyh \
¼v½ 1 vizSy 1948 ¼c½ 1 vizSy 1949

¼d½ 1 vizSy 1950 ¼M½ 1 vizSy 1951

(7) HkkjrkP;k jk"Vªh; mRiUukr dks.kR;k {ks=kpk okVk lokZr deh vkgs \
¼v½ Ñ"kh ¼c½ m|ksx

¼d½ lsok ¼M½ ;kiSdh ukgh
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(8) Hkkjrke/;s tkxfrdhdj.kkyk dsOgk lq#okr >kyh \
¼v½ 1991 ¼c½ 1981
¼d½ 1971 ¼M½ 1961

(9) Hkkjrkph vFkZO;oLFkk dks.kR;k izdkjph vkgs \
¼v½ HkkaMoyoknh ¼c½ lektoknh
¼d½ feJ ¼M½ ;kiSdh ukgh

(10) Hkkjrke/;s jk"Vªh; mRiUukph x.kuk dks.k djrs \
¼v½ dsfUnz; lkaf[;dh; la?kVuk ¼c½ jkT; lkaf[;dh; la?kVuk
¼d½ LFkkfu; lkaf[;dh; la?kVuk ¼M½ ;kiSdh ukgh 20

2. ^gfjr Økarhpk* vFkZ lkaxk- Hkkjrh; Ñ"khojhy gfjr Økarhpk ifj.kke fo'kn djk-
fdaok

1991 P;k vkS|ksfxd /kksj.kkps fVdkRed ijh{k.k djk- 20
3. izR;{k fons'kh xqaro.kwd vkf.k fons'kh iksVZQksyhvks xqaro.kwdhr varj Li"V djk- vkf.k R;kps Qk;ns o rksVs fo'kn djk-

fdaok
cgqjk"Vªh; fuxe Eg.kts dk; \ cgqjk"Vªh; fuxekps xq.k nks"k Li"V djk- 20

4. [kkyhyizR;sd iz'ukaph mÙkjs 12 rs 15 vksGhr fygk %—
¼v½ vkfFkZd fodklkps eq[; funsZ'kd dks.krs vkgsr \
¼c½ ^uoizorZukph* ladYiuk Li"V djk-
¼d½ ^M;wlsucsjh* izHkkokoj fVi fygk-
¼M½ jksLVksph vkfFkZd fodklkph dks.krhgh ,d voLFkk Li"V djk-

fdaok
¼b½ nkfjnzîkP;k nq"VpØkoj fVi fygk-
¼Q½ tksjkP;k /kDD;kP;k fl)karkoj fVi fygk-
¼x½ vkfFkZd fodklkoj vWMe fLeFk ps fopkj fygk-
¼g½ vkfFkZd fodkl vkf.k vkfFkZd o`)hrhy Qjd Li"V djk- 20

5. [kkyhy izR;sd iz'ukaph mÙkjs 12 rs 15 vksGhr fygk %—
¼v½ i;kZoj.k f'k{k.kkps mís'k Li"V djk-
¼c½ ty iznw"k.kkps lzksr dks.krs vkgsr-
¼d½ ^gfjrx̀g izHkkokoj* Vhi fygk-
¼M½ ou lao/kZukoj Vhi fygk-

fdaok
¼b½ ^fpidks* vkanksyu ;koj Vhi fygk-
¼Q½ Hkwfe iznw"k.kkph dkj.ks dks.krh \
¼x½ i;kZoj.k lerksyk dfjrk mik; lqpok-
¼g½ ok;q iznw"k.kkps ifj.kke Li"V djk- 20
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¼fgUnh ekè;e½
1. mfpr i;kZ; pqfu;s %—

(1) Hkkjr esa tUenj dSls fuf'pr gksrh gS \
¼v½ izfr gtkj ¼c½ izfr lSdM+k
¼d½ izfr dqVqac ¼M½ buesa ls dksbZ ugha

(2) Hkkjr esa Ñf"k dk lekos'k fdl {ks= esa gksrk gS \
¼v½ lsok{ks= ¼c½ izkFkfed {ks=
¼d½ f}rh;d {ks= ¼M½ buesa ls dksbZ ugha

(3) Hkkjrh; ;kstuk vk;ksx dk v/;{k dkSu gksrk gS \
¼v½ eq[;ea=h ¼c½ iz/kkuea=h
¼d½ foÙk ea=h ¼M½ jk"Vªifr

(4) Hkkjr esa ouksa dk ekfyd dkSu gS \
¼v½ futh ¼c½ ljdkj
¼d½ ou vk;ksx ¼M½ buesa ls dksbZ ugha

(5) buesa ls dkSu ls lk/ku dk lekos'k lapkj ds lk/ku esa gksrk gS \
¼v½ [ksrh ¼c½ O;olk;
¼d½ dkj[kkuknkjh ¼M½ VsfyQksu

(6) Hkkjr esa vkfFkZd fu;kstu dh 'kq:vkr dc gqbZ \
¼v½ 1 vizSy 1948 ¼c½ 1 vizSy 1949

¼d½ 1 vizSy 1950 ¼M½ 1 vizSy 1951

(7) Hkkjr dh jk"Vªh; vk; esa fdl {ks= dk ;ksxnku lcls de gS \
¼v½ Ñf"k ¼c½ m|ksx

¼d½ lsok ¼M½ buesa ls dksbZ ugha
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(8) Hkkjr esa oSf'odj.k dh 'kq:vkr dc gqbZ \
¼v½ 1991 ¼c½ 1981

¼d½ 1971 ¼M½ 1961

(9) Hkkjr dh vFkZO;oLFkk fdl izdkj dh gS \
¼v½ iwathoknh ¼c½ lektoknh
¼d½ feJ ¼M½ buesa ls dksbZ ugha

(10) Hkkjr esa jk"Vªh; vk; dh x.kuk dkSu djrk gS \
¼v½ dsanzh; lkaf[;dh; la?kVu ¼c½ jkT; lkaf[;dh; la?kVu
¼d½ LFkkfud lkaf[;dh; la?kVu ¼M½ buesa ls dksbZ ugha 20

2. ^gfjrØkafr* dk vFkZ crykb;sA Hkkjrh; Ñf"k ij gfjrØkafr dk izHkko Li"V dhft;sA
vFkok

1991 ds vkS|ksfxd uhfr dk vkykspukRed ijh{k.k dhft;sA 20

3. izR;{k fons'kh fuos'k ,oa fons'kh iksVZQksfyvks fuos'k esa varj Li"V dhft;s rFkk muds ykHk ,oa gkfu;k¡ fo'kn dhft;sA
vFkok

^cgqjk"Vªh; fuxe* D;k gS \ cgqjk"Vªh; fuxe ds ykHk rFkk gkfu;k¡ Li"V dhft;sA 20

4. fuEufyf[kr esa ls izR;sd iz'u dk mÙkj 12 ls 15 iafDr;ksa esa fyf[k;s %—
¼v½ vkfFkZd fodkl ds izeq[k funsZ'kd dkSuls gSa \
¼c½ ^uoizorZu* dh ladYiuk Li"V dhft;sA
¼d½ ^M;qlucjh izHkko* ij fVIi.kh fyf[k;sA
¼M½ jksLVks dh vkfFkZd fodkl dh dksbZ ,d voLFkk Li"V dhft;sA

vFkok
¼b½ xjhch ds nq"V pØ ij fVIi.kh fyf[k;sA
¼Q½ ^tksj ds /kDds* ds fl)kar ij fVIi.kh fyf[k;sA
¼x½ vkfFkZd fodkl ij ,WMe fLeFk ds fopkj fyf[k;sA
¼g½ vkfFkZd fodkl ,oa vkfFkZd òf) esa varj Li"V dhft;sA 20

5. fuEufyf[kr esa ls izR;sd iz'u dk mÙkj 12 ls 15 iafDr;ksa esa fyf[k;s %—
¼v½ i;kZoj.k f'k{kk ds mís'; Li"V dhft;sA
¼c½ ty iznw"k.k ds lzksr dkSuls gSa \
¼d½ ^gfjrx̀g izHkko* ij fVIi.kh fyf[k;sA
¼M½ ou lao/kZu ij fVIi.kh fyf[k;sA

vFkok
¼b½ ^fpidks vkanksyu* ij fVIi.kh fyf[k;sA
¼Q½ Hkwfe iznw"k.k ds dkj.k dkSuls gSa \
¼x½ i;kZoj.k larqyu ds fy, mik; lq>kb;sA
¼g½ ok;q iznw"k.k ds ifj.kke Li"V dhft;sA 20
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